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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry ¢twomarks. A//questions of Paper-I1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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ECONOMICS
Paper III

AL ITET

gyatrent 111
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Question Paper contains Seventy Five (75) multiple choice questions.
Each question carries Two (2) marks. Attempt A/l questions.

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)

U SRd. @E U Wi

The precision of OLS estimator is

measured by their :
(A) Mean
(B) Mode
(C) Standard errors
(D) Sign

Which one of the following is not a
part of classical assumptions, in

regression analysis ?

(A) Values taken by dependent
variable Y is fixed in repeated

sampling

(B) Regression model is linear in

parameters
(C) Error term has zero mean

(D) Error term has a constant

variance

N

= RN HiSdd.

(A) u&
(B) wgeis
(C) FHMEI
(D) o=

FfawTe  faversnd @refierish! ShioT

Te SfHd e v A ?

(A) TREH 741 Y A1 STacfod =erd
Ted © feer ared

(B) Yr=reI=A S GfawEe Yiaae
T 3T

(C) J9R UeTE TUER od ¥ ST

(D) YT U= fa=ror feer smq

[P.T.O.



If the estimated f&2 is equal to the
hypothesized B, the ‘7 value will be

equal to :

(A) 0

(B) 1

(C) 30

(D) Standard error of Bz

Which of the following are plausible
approaches to dealing with a model

that exhibits ‘heteroscedasticity’ ?

(1) Take logarithms of each of the

variables

(i) Use suitably modified standard

errors

(iz1) Use generalised least squares

procedure

(i7v) Add logged values of the
variables to the regression

equations
(A) (i) and (iv) only
(B) (J) and (fi?) only
(C) (1), (i) and (ii1) only

D) (1), (d), (i) and (iv)

JAN - 11318/III—A

B, ™ WERhfcld Hed UReRfedd By i

N P AN A
S 3THAE ‘£ 9 Hod WAlaidehl

FIA EA 2

(A) 0

B) 1

(C) 30

D) B, = yHOiFEd THR

FTRfare el wfHERT Frfed qetertent
PR gfewr faveea e 2

() Yo Tl ArRgd =
(i) TEEHIUET GETRa THIO-SrS ST
(Zi7) T SEHAT gGdl aTad

(7v) FHISH0 GHIH UMD Tl ArTReH
e

(A) e (i7) 30T (4v)
(B) W (1) 39T (i)
(C) T (1), (1) amfur (411)

(D) (D, (1), (zE7) 30T (2v)




Non-stationary time series is one
with :

(A) Time varying mean

(B) Time varying variance

(C) Both (A) and (B)

(D) Time invariant mean and

variance

What can you say about the

following statements ?

() Cournot’s duopoly model
assumes homogeneous product

of producers.

(i1) Cournot assumes price of the

rival producer constant.

(A) Both statement (/) and

statement (77) are incorrect

(B) Both statement (7) and

statement (77)) are correct

(C) Statement (1) is incorrect and

statement (77) is correct

(D) Statement (1) is correct and

statement (77) is incorrect
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(A) FHTAMRE ICAUR HEH

(B) °h|c'1i:|‘6l¢l QIGNUIIQ QU]
(C) (A) sufor (B) Sr=rel

(D) HAMRHE T SCAOIR HeF  3fur
Pl

Trelia fagHEed @l ®@ 9 ?

(1) wmA=ar fgfamar gfaarmes
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(i) T ScEehr=A Tyl fEer 3ra
3 HAM TR A IR,

A) faam () 3 faam () & = TH
e

(B) faerm (1) = faem (i) & <= slsk
TR

(C) Taum () I o faum () & s
e

(D) faum (1) s 9 faum (i) & I
e
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In case Reserve Bank starts selling

government bonds, then :

(A) LM curve shifts to the left

(B) LM curve becomes vertical

(C) LM curve becomes horizontal

(D) LM curve shifts to the right

If the investment function becomes

interest inelastic at a low rate of

interest, the corresponding IS curve

becomes :

(A) Horizontal

(B) Upward sloping

(C) Vertical

(D) Flatter
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g v SR U@ oIk gy el

qa¥

(A) LM = STl SIS[ell Elehdl

(B) LM g% fufasas e

(©) LM 9% fafismedi déa

(D) LM &% 351 aS[ell Hihd

T[qeTU[eh el SATSIGURIT STererdieh SIead,

Taryd IS ok 9l s ?

(A) TSR

(B) =edl 9sh

(C) fafaser

(D) THIE




10.

Statement I :

Oligopoly is a situation where a few
large firms compete against each
other.

Statement II :

Under oligopoly there is an element
of interdependence in the decision-

making of competing firms.

(A) Statement I is true but the

Statement II is false

Statement I is false but the

Statement II is correct

(B)

Both the Statement I and

Statement II are correct

()

Both the Statement I and

Statement IT are false

(D)

Monopoly power refers to the :

(A) Restraints imposed by the

competitors on each other

(B) Restraints imposed over

competitors by the price maker

(C) Restraints imposed on the
quantity of production by each

other
D)

Restraints imposed on prices of

production of each other

10.
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faam= I :

STCUSTTTIRT B TN ST 3TE i Y
TS ATl HicdT Scae Hell TshHehT9l
Tyl g STEAT.

faeam 11

STCISTATTHERRIGRTT e a8 FET=
Frofa afsrad EEesia e STayd

7.

(A) faum I silsR 31e W foem I =
S

(B) faum I 9% o1 W faem I sex
e

(C) faum 1 9 faum 11 & <=t faum
S 3R

(D) faum I 9 faum I € St faum
I 3R

TR Yokl oS ¢

(A) TR ThHehoR AR Se

(B) foua fHuier™ TR dcelelt
EEh|

(C) THAFRTTAT IcUET ANHBIGT

ha¥ o
NIMHSEEIRE RIS

(D) ThHeRT=A1 e fehHdoR dAeeied

e
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11.

12.

Offshore currency deposits are

usually referred to as :

(A) Euro bonds

(B) Euro currencies

(C) Euro banks

(D) Euro deposits

According to the Product Cycle

Hypothesis, innovation leads to

................................ for the innovating

country.

(A) absolute monopoly

(B) relative monopoly

(C) temporary monopoly

(D) long-term monopoly

11.

12.
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foeelt =e 39T 98

RIS |

(A) IO @

(B) JU FeH

(C) JU AR

(D) IO &

IE] T URRCIITER  AAYed AT o

ECPERCR ]

7.

(A) Hhad HFRER

(B) 9Ue AR

(C) TIeqRar HeRigrt

(D) <TeiehTel HeRgrR




13.

14.

Hedging refers to :

(A) The acceptance of foreign

exchange risk

(B) The covering of foreign

exchange risk

(C) Foreign exchange arbitration

(D) Foreign exchange speculation

Name the Economist represented

United States at the Bretton Woods

Conference :

(A) Marriner S. Eccles

(B) Paul A. Samuelson

(C) John Maynard Keynes

(D) Harry Dexter White

13.

14.
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15. Statement I : 15. faeam 1

Prior to Greek debt crisis, many
German banks helped finance
Greece’s debt and Greece knew
very well that the IMF and the
Western States would have to use
bailout funds to bear the lost of

Greece’s failure.
Statement II :

The idea of single currency market
had an unrealistic assumption of
perfect information and ignored
that in real world information is

imperfect.

(A) Both the Statements I and II
are correct and Statement II is

the reason for Statement I

(B) Both the Statements I and II
are correct and Statement I is

the reason for Statement II

(C) Both the Statements I and II

are correct but no statement is

reason to the other

(D) Statement I is correct but
Statement II cannot be the

reason for Statement I

o o

RRT= Sotdehelqd] 3THeh STHA STl

fre=n &St foaaqear shen g S
Toret 9=t qul e Bl ohi STaser
rovfeft st arfiemed SR e
SR fRAd ssidehe Fem iR
Fehell ST A

faem 11 :

I FeAre] hequmqul  Hifgdr=
TS TRk STERA Bl ST
I ARd ST Hifgd! JgH! 3707 3Td
T RS THel .

(A) <=1 faam 1 enfor 11 ske 3Tmed

anfor faem 11 € faam 1 9 &R
3T

(B) <t faum 1 nfor 11 sReR 3Ted
a7for faem 1 € faum 11 9 Rw
3T

(C) <t faum I anfor II sReR a7Rd
T ATeh! Rl fTem Uk go=am
FHRO Y IHT AR

(D) faum I sieR o7’ o foum 11 §
foum 1 = %R0 39 ¥hRd A&
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16.

17.

18.

The upper and lower Minimum
Wage Rates which are applicable
for Agricultural labourers fixed
by the Central Government as on
31-12-2013 were :

(A) Rs. 465.00 and Rs. 186.00
(B) Rs. 437.00 and Rs. 165.00
(C) Rs. 439.00 and Rs. 195.00
(D) Rs. 432.00 and Rs. 188.00

Which one of the following is not the
salient feature of the APMC Model
Act, 2003 ?

(A) Permission to farmers to
establish new markets in any
area.

(B) No compulsion to farmers to sell
their produce through existing
regulated markets.

(C) Setting wup of farmers-
consumer markets for direct
sale.

(D) To facilitate processing at the
place of marketing and promote
exports.

In Indian agriculture farm size and
productivity show :

(A) Inverse relationship
(B) Positive relationship

(C) Neither inverse nor positive
relationship

(D) Fluctuating relationship
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16. &g ThRA fedisd 31-12-2013 st
i@ Sad FA 9 fFAH 999
I S F gfFHeTT dF) SRd d

(A) T. 465.00 9 & 186.00
(B) %. 437.00 9 %. 165.00
(C) % 439.00 9 %. 195.00
(D) ®. 432.00 9 %. 188.00

17. WTelAdeht HITA FOT Ieq= ST
Al T el 2003 = fowrer earon
2
(A) HITAR YR ToH IR g&

IO YAHAAT G
(B) AR v Mt aeRued
ot IcUeA foRuarEt SideR-are

T ATEL

(C) gyl fasmisndl IAdemd-SuHe
NN TATTT H0]

(D) Tasmr=n e gfhan vt 9
e frafd diedes <9

18. HRAT FHHlld HRUIEETS ATRRAN A0

TR &THAT AT

A) forg Fag @M

(B) WEHeg e

(C) favg stoa weoas &
(D) TESaN=l Tgges 31
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19.

20.

What can you say about the

following statements ?

() NABARD was established in
July 1982 for taking over the
functions of Agricultural
Refinance and Development

Corporation (ARDC).

(i) NABARD extends refinancing
facilities to all scheduled banks

in India.

(A) Statement (1) is correct and

statement (77) is incorrect

(B)

Statement (7) is incorrect and

statement (77) is correct

(C) Both the statements (7) and (17)

are correct

(D) Both the statements (1) and (17)

are incorrect

As per the views of the National
Advisory Council, the food security
legislation 2013 was expected to

population of

country.

(A) 68 percent
(B) 75 percent
(C) 83 percent
(D) 89 percent
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19. @i fauHeEa @ ®E " ?

20.

(1) et qAfa sfvr foehre =i st
RIS ATl Tl el
1982 HEH HIUAM STl

(i) VIRAS Tel TG sepr1 Trere
qAfol e gRad.

(A) e () SR 31e Sfor faem (i)
Ik 3T

(B) faum () = W snfor faum (1)
ENEC

(C) faum (5 3 faam () & =N
faem sisR a1

(D) faum () 3 faam () & =

faam =& smRd

[aV o N o bV haN
RSl AR HIRMG=H] g bcen (U]

2013 =1 3T Q&N HEST QIM=AT

T AlehEEAe STayd vl
uferd 2.

(A) 68 TFh
(B) 75 <Fh
(C) 83 =
(D) 89 Z=Fh
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21. What can you say about the

following statements ?

(1)

(1)

(A)

(B)

(®)

(D)

Planning Commission in India

was a statutory body.

Finance Commission in India is

a permanent advisory body.

Statement (7)) is correct and

statement (77) is incorrect

Statement (7) is incorrect and

statement (77) is correct

Both the statements (1) and (17)

are correct

Both the statements (1) and (17)

are incorrect
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21. el faumeEa &&= 9mma ?

(1)

(1)

(A)

(B)

(®)

(D)

YT DT SR Sefeh TEe
BIdl.

YRATAS o ST T et

g %

faem () e snfor faem (7) e

Sl

faem (7) I 7o faem (47) seR

Sl

faum (7)) sufor faum () & <=l

faum sOeR a1meq

faum (7)) sufor faum G & <=

faum 9= eTmRd

13
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22. What can you say about the

23.

following statements ?

(1)

(1)

(A)

(B)

(®)

(D)

The share of rural incomes in
India’s GDP is falling during

recent time.
The share of organized sector in
India’s GDP is rising during
recent time.

Both (7) and (77) statements are

incorrect

Statement (1) is correct and

statement (77) is incorrect

Both (7) and (77) statements are

correct

Statement (7) is incorrect and

statement (77) is correct

Global warming in the world is

majorly due to :

(A)

(B)

Hot Summers

Green-house Effects

(C) Erratic Summers

(D) Irregular Monsoons
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22. el fagmeEd =l ®E | ?

(1)

(11)

(A)

(B)

()

(D)

23.

TSTieh=AT hIBld WA=l <eNdid
L SIS ATHIOT =T Al
g oTR.

TS(Teh=aT hTedld  WRAT=AT <9
UL IR Gefed e a1l
gled 3R,

faum () = faum (i) 2 <= TIH
aTed

faum () SR & fauad (i) I%
3T

faum () 9 faum () & = IR
aTRd

faum () =% 9 faum (i) R

14



24. Tarapore Committee was associated

with which one of the following ?
(A) Special Economic Zones
(B) Full

Capital Account

Convertibility of Rupee
(C) Foreign Exchange Reserves

(D) Effect of oil prices on the Indian

24.
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AR T ETelieiish] Hem= deuid
B ?
(A) T enfde &=

(B) TqATE WTeac @remEeda qof

gRed e
(C) facelt gz1 @ra
(D) dor=A foradie IR STedeeed-

Economy Faa gRomy
25. Fill in the blanks : 25, Tl S W
Census of Literacy rate AT AT
India in India oot Hadr ¥
(percentage) (TFhaR] AL
1991 ? 1991 ?
2001 ? 2001 ?
2011 ? 2011 ?
(A) 52.2 64.8 74.1 (A) 52.2 64.8 74.1
(B) 50.1 62.0 70.3 (B) 50.1 62.0 70.3
(C) 555 65.5 76.7 (C) 555 65.5 76.7
(D) 54.2 66.8 76.1 (D) 54.2 66.8 76.1
15 [P.T.O.



26.

27.

28.

While production goes on, the
Marginal Fixed Cost (MFC) is
always :

(A) rising
(B) falling
(C) negative
(D) zero

The book “Value and Capital” is
authored by :

(A)
(B)
(C)
(D)
()

Tapas Majumdar
R.G.D. Allen
J.R. Hicks

Joan Robinson

An individual labour invariably
shows backward bending supply
curve.

(i) Supply of labour to an industry

shows high elasticity.

What can you say of these
statements ?

(A) Both statements (1) and (77) are

correct

(B) Both statements (1) and (77) are

incorrect

(C) Statement (1) is incorrect and

statement (77) is correct

(D) Statement (1) is correct and

statement (77) is incorrect

26.

27.

28.
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IIEA =Te] A i feer e

(A) e
(B) e
(C) 30

D) =

“FHeg ofe wfted” T g

I fafea o=

(A) 99 HAJHSR

(B) XSSl e

(C) S.em. fewm

(D) SH Ufeorga

(/) Tehl AR HATHATN LSl Tsh
FAfeequa A PR STl

() T TR BIURT SAfHRET qLeIal
3oq oarashdl gl

71 foummeTed gRl T W ?

(A) faum (1) 9 faum () & = SR
3Ted

(B) faum (1) @ faum (i) & <=1 ==
3TRa

(C) faum () ¥ 9 faum (i) TR
e

(D) faum () seX 9 faeam (i) I
Sl
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29. In the long-run profit maximising | 29. TTH HTeMEN HEdH THT THBTUIRT ScAGA
firm will choose to exit a market T W FNRGA aed gevarEn i
when : Teeryeh! o fedia a2
(A) Fixed costs exceed sunk costs (A) TeRr T gfea w=mue st o
(B) Average fixed cost is rising (B) Tl fer @4 dred eed
(C) Total Revenue (TR) from (C) U Ufhaqd THesUR TeRUT 3=
production is less than Total (TR) T 3caed @9 (T'C) Arvem &t
Cost (TC) e

(D) Marginal cost is above average (D) THATd ®E ® GUEd wEioe
cost a1ferer oTRd

30. Demand for factors of production | 30. 3ITUEH FHMET HEON & e
is : 3.

(A) Derived demand (A) IfRa =wFft
(B) Joint demand (B) g AT
(C) Cross demand (C) @reles TN
(D) Net demand (D) fHedes ARTUR
17 [P.T.O.



31.

32.

Rigid money wage in complete

Keynesian model generates :

(A)

Downward sloping aggregate

supply curve

(B) Upward sloping aggregate

supply curve

(C) Vertical aggregate supply curve

(D) Horizontal aggregate supply

curve

Choose the right answer from the

options A to D given below :
Assertion (S) :

In the classical model, no
equilibrium other than full-

employment is possible.
Reasoning (R) :

This is ensured by a positively sloped
AS curve and a negatively sloped

AD

curve.

(A)

(S) is correct and (R) is correct

(B)

(S) is correct and (R) is incorrect

(C) (S)isincorrect and (R) is correct

(D) (S) is incorrect and (R) is

incorrect

31.

32.
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IRul Sy YiEEE ge e
TS T TeTUsh! Sh3eal sTer= frHdT

eI

(A) T&d TS 9% SAl
(B) 9%a YA ash el

(C) Fhal qiaal o fafasiaa

(D) ¥ YRael ah TefqeradiaR
eIGIGEEINO L BRI EC

faeam (S)

ST e ol ISR STesdl GE
FHIVART FAEAA 3T Thd TR

<uT (R)

G SARTE HHE Al dsh d FUT SANTHT
THE O ek Aes © TwEld .

(A) faum™ (S) 9 &R (R) T2l IR
3T

(B) faum (S) =R 90 &R (R) &
3R

(C) fa&m (S) = T &Rl (R) K
e

(D) faum (S) I o R (R) I 38
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33.

34.

In Mundell Fleming open economy
model, if exchange rate is flexible,
then fiscal policy is a failure

because :

(A) Balance of payments is in
deficit, currency depreciates and

net exports go up

(B) Balance of payments is in
deficit, currency appreciates and

net exports go down

(C) Balance of payments is in
surplus, currency appreciates

and net exports go down

(D)

Balance of payments is in
surplus, currency depreciates

and net exports go down

Which one of the following is not a
determinant of money multiplier in

an economy ?

(A) Currency to Deposit ratio
(B) Excess reserve ratio

(C) Required cash reserve ratio

(D) Consumption to currency ratio

33.

34.

JAN - 11318/1II—A
Hed AT Goar srederee qiqH
faf g <X deodr THIE  USThIoY

gRuT 99 B A SR

(A) ST HBR Aeals eI ST,
ENEICTIREEt B R E )
frafda ame g

(B) TR HeBR el 2 T,
T SAfHedd Bd o Feaw
fafdta =e en

(C) ST R Aleeig S LI
FYAl, T eI B ST
T fafdia == e

(D) SR FER qTeag S EFT

ST, T ST B 27T fedes
fraida == 2

TEAeTdeh! VAT Sk STaEsdial e
RUEIC I LIPERCEE T | F

(A) FEHME SHIRl A YHIT

(B) fer T o0

(C) AEvgs U@ TEd FHIT

(D) SYNNTE IR THAA FHTOT
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35. Duesenberry’s relative income

36.

hypothesis rests on the assumption
that utility function of an individual

is influenced by :

(A) Average consumption of the

economy

(B)

Marginal consumption of the

economy

(C) Only lowest value of

consumption of the economy

(D) Only highest value of

consumption of the economy

Prof. Gunnar Myrdal combines
national and international forces to
of economic

discuss process

development on the basis of :

(A) Export and import potential

(B) Backwash effects and spread

effects

()

Income inequalities in the

economy

(D) Demand and supply forces in

the economy

JAN - 11318/III—A

35. TGOl MUY SOIER IRl

36.

1 TfedheaeR MG e — S

HIhM YuIfad dgd.
(A) IFTETDT U ST
(B) 2Tefeeed=n dHifaess ST

(C) NFFTEdA SUHT oI Helld
it

(D) FfHEIAA SUHT Hed el

ST

1. AR THEid I TS 9 STTars ™

YRl Wehfa T S eTfeien faeg

YT SAYNER hell 8.
A) Trafa 9 @ gvrs

(B) Ycmemel gRume STfr YR gRemH

(C) FdTIEIdTA Iq—T Toomar

(D) ASHTTIMA ARTON TrekiT
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37. According to Prof. Higgins the use | 37. w1. fgvfi=g ar=a1 w4, :ﬁ:{famﬁqa
of different production functions in sofaESe W o URuRE e
advanced sector and traditional S S — N
sector of an underdeveloped

m ................................. m
economy is referred as ...........c.............
T,
dualism.
(A) o
(A) Financial
(B) Social (B)
(C) Technical (C) MR
(D) Credit (D) wd

38. The concept of Physical Quality of | 38. ‘difdes Staam fdwns’ (PQLI) &
Life Index (PQLI) was developed TeRQUAT It faefaa
by : el
(A) S. Kuznet (A) TH. FHe
(B) R. Nurkse (B) 3. =
(C) Arthur Lewis (C) =R =d
(D) M.D. Morris (D) WH.El. HO9
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40.

............................. techniques tend to
accelerate the rate of capital
formation and maximum productive
capacity and employment in the

long-run in developing countries like

India.

(A) Capital intensive

(B) Labour intensive

(C) Appropriate technology

(D) Intermediate technology

The Gini coefficient provides a

measure of :
(A) The level of poverty

(B)

The level of relative income

inequality

(C) The level of disguised

unemployment

(D) The level of economic growth

39.

40.
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TR faeha el SXd, Sreehtesrd

[aSl X Jlal

WA Hl

L, hHMA 3G &HA 9

(B) &\ 99H

(C) gara aom™

(D) A9 T

(A) TG dTdest

(B) 39— foasma=t @del drded

(C) B AR Ul

(D) i T T
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41. Tax buoyancy is measured as a | 41. &=l 6G\°|6i'12|ﬁlcflcll """"""""""" RIIREY
ratio of : YR HISTe S
(A) Growth in tax revenue to the (A) =X #ggel A= 9ohd A
growth in GDP ScqTfearefl ORI
(B) Growth in non-tax revenue to (B) iR HeYd o6 ThHU i Hedqd
the growth in gross tax revenue EIEE] T’ﬁ?l'{
(C) Growth in revenue to growth in (C) X 7eYqd ded THRY @ arersi
total expenditure T[T
(D) Growth in total expenditure to (D) TRTT T A ¥&d  3idud
growth in GDP Icqrfedrdiel STeret o
42. ‘Shifting of tax’ is seen in case of | 42. ‘& Femoy g T JehT=AT
............................. taxes FEA fogd ad
(A) Direct (A) TIII HT
(B) Indirect (B) 3uca&l
(C) International (C) AT T
(D) Local (D) eIt
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43.

44.

45.

The concept of “Zero Base Budget’

was first used in :
(A) America

(B) Awustralia

(C) Germany

(D) France

The fiscal deficit is not¢ financed

through :

(A) Proceeds from State Provident

Fund

(B) Treasury Bills

(C) Dated Securities

(D) Debt raised under Market

Stabilization Scheme

The proceeds collected under Article
271 of the constitution are retained

by :

(A) State Governments
(B) Union Government
(C) Urban Local Bodies

(D) Rural Local Bodies

43.

44.

45.
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JNEIRA STSTSTUAhTe Feheul Jomd:

TSIhIsE qera foresrerend
Hhd el oA AATEl.
(A) T yfgsa fafe fefida g

(B) USRI g9

(C) fertend o=t

(D) =TSR Feeriehto et SHRe
Ex

TS HET=l hatd 271 3o THRUR]
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46. Statement I : 46, faam I :
Initial phase of trade liberalisation TRATdIE SATIR SO e
in India led to an increase in o 3 - & o .
employment opportunities.
faam 11 .
Statement II :
Later phase of trade liberalisation HILATATST ATUR IQIh 0T a2 ]
in India resulted into a Jobless TSHTREEI §|$EI et e
growth. (A) faum 1 9 faum 11 & 9 faum
(A) Both the Statement I and TS 3Ted
Statement IT are correct
(B) faum I = faum II & <t faum
(B) Both the Statement I and < s
Statement II are false
(C) faem I sisR 318 W foum 11 9%
(C) Statement I is true but the .
Statement II is false
(D) Statement I is false but the D) ﬁﬁHITﬁ?ﬂ'I%T{T'Lﬁ%TH IT =R
Statement II is correct R
47. Inthe Balance of Payment accounts, | 47. SA98X el AEAHEd BRI e
transfer payments are 1nc1uded ln ............................... W%ﬁ W
the : EXISIGIN
(A) Current Account (A) =] @
(B) Service Account (B) ¥a1 @
(C) Capital Account (C) wreae @
(D) Official Resources Account (D) ferpd HETEA @
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48.

49.

To which of the following would the

mercantilists have objected ?
(A) Free trade

(B) Stimulating exports

(C) Restricting imports

(D) Accumulation of gold by their

nation
Statement I :

International trade allows creation

of an integrated market.
Statement II :

The international market which
emerges as a result of international

trade distorts competition.

(A) Statement I is true but the

Statement II is false

(B) Both the Statement I and

Statement II are true

(C) Statement I is false but the

Statement II is true

(D) Both the Statement I and

Statement IT are false

48.

49.
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ST ©ITeileTdehl HIME  3T&T

Bl STl ?
(A) HH AR
(B) fafie =mem 301
(C) Arcter fefe =er

(D) AT <YM A== G99 hv)

faam= I :

ARSI IR Thge o= i

(A) Taum I 9 o1 au1 faeam 11 319
3T

(B) faum 1 =nfor faem 11 =1 9
3T

(C) Taum I 19 g gut faum 11 9
318

(D) faum 1 snfor faem 11 S8t e/
318
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50. Dumping occurs when :

51.

(A) Firm charges higher price on

exports than it charges

domestically

(B) Firm charges lower price
domestically than it charges for

exports

(C) Firm charges lower price on

exports than it charges

domestically

(D) Firm charges different prices on

exports in different countries

As per the RBI definition, money
supply with the public in India (M;)

is defined as :

(A) Currency with the public +
Deposit money with the public

(B) Currency with the public + Post

office saving deposits

(®)

Notes and coins in circulation

(D) Notes in circulation + demand

deposits of banks

51.

JAN - 11318/III—A

(A) STTETEAT TIMA  ATHTIA AT
formdiuen 21feer fraid feaa s

(B) SeEivraeen frafq femdivan e

fohed el TR

(C) e qumea fepmdiaen srfeeh
frafa fewa ereRRd

(D) e fafay Serq fafaw frafa
frma sTehrd

o iy N N ~ - . ~
Rgld denTdl oqled R dlenlensial

it ehefl WM.

(A) AThwErd el + AlhIhSA
CEIEE

(B) SNishTsheld WAl + Uit

Afpeaea s=a ot
(C) FeMwdel ot o Hier
(D) AT HIel + SehT=AT HETON 3ot
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53.

is the oldest stock

exchange in India.

(A) NSE

(B) ASE

(C) BSE

(D) DSE

In three-tier structure of co-operative

credit institutions, the apex state

level institution is :

(A) RBI

(B) State Co-operative Bank

(C) NABARD

(D) District Central Co-operative

Bank

53.
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T SR

(A) TA.THE.

(B) T.WH.E.

(C) s.uHE.

(D) SLTEE.

Lo fa N
Slecn Rl HAqRAGU =] T‘ﬁq AR LA N

L

(A) SR.&.3T9.

(B) W2 HI-3Rfeeg ok

(C) Tere

(D) feiae 2o whi-Affes @
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54. In which situation qualitative | 54 wrefierist =i feedig TUTTcHS
credit controls are effective in the e e
economy ?

(A) Tordrn feedt fEmmr sHroamEe
(A) To control inflation
B) stafomidet feerdt fesor soamst
(B) To control deflation (B)
(C) To control imports (C) 3™ TTIATMHES!
(D) To control exports (D) frafa fEsomEE
55. (7 RRBs were initially established | 55 () 1985 7&d yReft &t Trhor SR
in the year 1985 in India. S
() RRBs are scheduled Banks. . ~ .
() &I UH Skl STHad o]
What can you say about these
3R,
statements ?
_ 1 faEmIfasRT STau %™ |ra - ?
(A) Both (7)) and (77) statements are
wrong (A) <1 faum (7) i (7) <k 3fed
(B) Both () and (77) statements are (B) <t faemy (5) o1for (47) SR eTed
correct
(C) Taem (7) SReR A8 ST faem (47)
(C) Statement (1) is correct and
TH T
statement (77) is incorrect
(D) Statement (1) is incorrect and (D) faem (2 S e e (1)
statement (77) is correct ERERSCI
29 [P.T.O.



56. India ranks at the

57.

place in top producers of steel in the

world.

(A) 6th

(B) 4th

(C) 5th

(D) 7th

Consequent to the

concept of “dominant position” in

industries was introduced in India.

(A) SICA

(B) Competition Act 2002

(C) MRTP Act

(D) Industrial Policy Resolution

1956

JAN - 11318/III—A

56. TIATTE ScUTEd HIOM=AT ST

57.

(A) 6
(B) 4@

(C) 5an

I ST,
(A) SICA
(B) =ifmfey™ 3fde, 2002

(C) Heert for e ereqess =R

HITR AR

(D) STrENfieh RO wger 1956
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58.

59.

Rank, in the descending order of
their intensity, the problems of
industrial development in India

during the planning period :
(1) regional imbalance

(i7) unemployment

(11) poor export performance
(A) (1), (1), (i11)

(B) (1), (i), (1)

(C) (1), (1), (1)

(D) (D), (1), (111)

As per the new classification of
industries the micro-enterprises
should have maximum investment
of Rs. oo in manufacturing
enterprises and Rs. .......ccccc.c....... in

service enterprises respectively.
(A) Rs. 10 lakhs, Rs. 5 lakhs

(B) Rs. 15 lakhs, Rs. 10 lakhs
(C) Rs. 25 lakhs, Rs. 10 lakhs

(D) Rs. 20 lakhs, Rs. 15 lakhs

58.

59.

JAN - 11318/1II—A
ST hTeordted  3irenfiter  farermam=an

qAETE AT el diaddar A

orEr

(1) WIGRTH STHHAA

(zi) SIS

(i7i) Tfe= STEHIYRRE RN
(A) (1), (1), (31D)

(B) (), (11, (1)

(C) (1), (1), (i)

D) 1), (1), (F)

STM=AT FAT N RIOMTAR G &H
SUNTHEAHE TRTHIU SUhH STHATH

SYshH A

SR AT eTUferd ST
(A) % 10 @@, & 5 @@
(B) & 15 @@, %. 10 «r&
(C) & 25 @@, % 10 om@

(D) ¥ 20 @@, T 15 @&
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60. Which of the following does not

61.

take part in the money market

transactions in India ?
(1)
(2)
3)
(4)
(A)

Certificate of deposits
Commercial papers

90-days treasury bills

Mutual fund units

(4)

3)

(1)

2)

As per 2011 census, 51% of

India’s population was urban.

(B)
()
(D)

(1)
(i7) In USA, today about 78% of

population is urban.

What can you say about these

statements ?

(A) Both statements (1) and (77) are

incorrect

(B) Both statements (1) and (77) are

correct

(C) Statement (1) is correct but

statement (77) is incorrect

(D)

Statement (7) is incorrect but

statement (77) is correct

60.

61.
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AT AT IS T8 AR

WTeliedehl Y= THEY B ATE 2

(1) wffrehe sifw feulfaem

(2) wHHRie™ Jod

(3) 90-fearam= =l fored

4) AT He ™

(A) 4)

B) )

©

D) (2)

(1) 2011 =1 SFUHTER 9T 51
TFh ARG TRl AT

(i) TS USA W& SEesurd 78 <oFh

AhEE TR AR,
71 faumfawht smqu w9 ?
(A) =T faam (7) 7 (77) I ARd
(B) Il faem (5) &for (77) sRIsR 3R

(C) faum (7) ssR 7o faum (i) =9
e

(D) faum (1) I i faem (i7) s
EIE
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62. As per 2011 census, India had

63.

....................... million plus cities and
their total population accounted
of total urban

population.
(A) 57, 54%
(B) 51, 61%
(C) 53, 44%
(D) 44, 53%

Population growth and economic
development have close relationship
is developed through the concept

of :

(A) Demographic transition

(B) Optimum population

(C) Density of population

(D) Population trap

62.

63.
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I 2011=a1 RRAVEATEAR 9RATd

YE TYTARTIE
ek dlheeddl el d = TR

ARETIT THI AR Alhd&d =l

(A) 57,

(B) 51,

HhouAqd HISTell 3R,

(A) TRTEAT TR L

(B) I Arnde

(C) ATRETAT ST

(D) IhEEAT el
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64.

65.

As per the 2001 and 2011 census of

India the urban : rural population

ratio was .....cccceeveueee. and ......cceeveenene.
respectively.

(A) 1:26, 1:22

(B) 1:25 1:20

(C)1:29, 1:23

MD) 1:26, 1:29

Which is the correct descending
order of proportion of urban

population in India as per 2011

census ?

(A) Tamil Nadu, Maharashtra,
Gujrat

(B) Maharashtra, Tamil Nadu,
Gujrat

(C) Tamil Nadu, Gujrat,
Maharashtra

(D) Gujrat, Tamil Nadu,
Maharashtra

64.

65.
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AR 2001 & 2011 =41 FRTOrdER

AT : IO SR e TUIRR 3T

....................... EE— N
(A) 1:26, 1:22

B) 1:25, 1:20

C)1:29, 1:23

D) 1:26, 1:29

H1 2011 =41 RRITORITHR WAt TR
AhEEIAT AT THIUMET IOl hH
e R ?

(A) dIfHesTE, HERSE, TSI

(B) HENISE, dIiHeArS, TSI

(C) dIfHesTg, TSN, HERIS

(D) TSN, A, HeRS
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66.

67.

In India, population employed
in agriculture is approximately
...................... of total Indian workforce

and agricultural exports are about

of total exports.

(A) 48%, 25%

(B) 54%, 14%

(C) 60%, 30%

(D) 50%, 38%

Which one of the following is not an
objective of National Food Security

Mission (NFSM) ?

(A) Distribution of High Yielding

Variety Seeds

(B)

Demonstration of improved

production technology

(C) Strengthening credit facilities

(D)

Popularising newly varieties of

crops

66.

67.
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ARATT FHT QT HRRA ST ATh T

THU FHEEHAT T

o [a

SR AT TeRuT T

Tl IcqTeAT=

(A) 48%, 25%

(B) 54%, 14%
(C) 60%, 30%

(D) 50%, 38%

TSI 3T e AN |efadeh]

HIU 3fEse @ ?

o~

(A) 21feer ScareH U= femr=an S

oo

(B) gia UG oM UTcafaeh

(C) va Hfagre Fcsheehiul

(D) Torr=a = Sl AR gd hol
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68.

69.

The classical book ‘Economics of

Agricultural Production and

Resource Use’ is written by :

(A) G.E. Foster

(B) W.W. Wilcox

(C) T.W. Schultz

(D) E.O. Heady

The percentage share of agriculture
and allied sectors to total outlay in

India’s 10th, 11th and 12th five

year plans was

respectively.

(A) 22%, 20.7%, 18.1%

(B) 20%, 19.7%, 17.3%

(C) 23%, 20.1%, 19.5%

(D) 23.3%, 20.9%, 20.1%

68.

69.
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‘TR 3Th TUTeheald AIeeRM

3fg fa g9’ =1 1fieia g™ e

(A) ST HER

(B) TS dlciehlad

(C) de=. YA

(D) .37 T

Il ffoT W & WRAreA 1094,

1191 9 12 Goansier  JreHraeie

LN N
caen iRl dicl HAgonH

gl

(A) 22%, 20.7%, 18.1%
(B) 20%, 19.7%, 17.3%
(C) 23%, 20.1%, 19.5%

(D) 23.3%, 20.9%, 20.1%
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70.

Which of the following rural schemes

70.

JAN - 11318/III—A

T Teeh! ShIoel UTHIOT Arsrre gaut

= oA A

merged with Swarna Jayanti Gram S UM TRSTR A faefte e
Swarojgar Yojana ? O AT ?
(A) TRYSEM and MNP (A) TRYSEM s37fur MNP
(B) DPAP and IRDP (B) DPAP 31fur IRDP
(C) NREP and RLEGP (C) NREP 37foi RLEGP
(D) IRDP and TRYSEM (D) IRDP =7fti TRYSEM
71. The total revenue (R) and total | 771. Wﬁ@%wm(}{)aﬂﬁw
cost (C) functions of a firm are =9 (C) el
given by :
R=30Q - Q2 C =20 + 4Q
R=30Q - Q% C =20+ 4Q
T ST e TN Il 3cae
What would be the equilibrium
fordll s/@@ ?
output of the firm ?
(A 9
(A) 9
(B) 13 (B) 13
(C) 17 (©€) 17
D) 11 (D) 11
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72. Non-negativity constraints in a

73.

Linear Programming problem is

represented as :

(A) X>0and Y <0

B) X<0and Y =0

(C) X<0and Y <0

M X>0and Y =0

When the correlation coefficient

r = *=1, then the two regression

lines :

(A) Are perpendicular to each other

(B) Coincide

(C) Are parallel to each other

(D) Indeterminate

JAN - 11318/III—A

792. TS YTHISHAT=AT 99ATd 3T-RUTCHR

73.

TUY Weileleh! IOl HETH Sgiferdr

RECHEE

(A) X >0 Y <0

(B) X <0 MY >0

(C) X<0aAMryY <0

M) X>0aAMY >0

Sieg] Tega UMehT™ Jed r= =1 3T8d

(A) TR RIShIAT
(B) 31fvy=
(C) TER FHH

(D) sAfeiia
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74. For accepting a null hypothesis, the

75.

computed value of a test statistic

should be than the

critical value.

(A) Greater

(B) Less

(C) Superior

(D) Significant

To compute the area under a curve

we use the concept of :

(A) Differentiation

(B) Limits

(C) Integration

(D) Probability

JAN - 11318/III—A

74. T qfeheq WieREE A9ed, a1

75.

FIA eIl Fifedeh! Fao e ©

(A) S’ 79@

(B) &4t 3@

(C) 9153 Ud= 37Emel

(D) &I 3T

T Wt & HI9T e ST
3TV WTATAThT HITTCAT Fehogadn
ST wal ?

(A) =FI=EA
(B) TAtet
(C) HHIRAA

(D) FaTeIdn

39

[P.T.O.



JAN - 11318/III—A

ROUGH WORK
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